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1. Determine the vatue of ”(x +y) e%" =" dy

2. Evaluate the following integral by using cylindrical coordinates. Sketch the domain of the
integration in Cartesian coordinates.
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where D is the region enclosed by: ¥ty=4 :
D )
- - :(U\G) L‘M y=x+2
T ()‘l"\\ = (X *9 9 x) S‘:\bs:“:‘—uh\b*
T = (2,9) 5
-T (2l2) = (‘h‘a) T 4 -/"-'—--
— /7
.(_.(O‘L‘ = (2,2) /////
((‘\5)3(‘1'. 2) ‘:- Lﬁh’u
3wl e sk
= W ] ] it
/ &fxév] -?Jidudus’- o2
¥ +z\ we- 1o d ..q'_\_“" dw
SS(x-euqa &x&) = S g:z.u-e_ - CGw = >
> =a
P = °© w="% o=
+ o
- S L(e™-eNdu = 2 ie“-“\{
= 2 “es
2
; Werwate
L __!ieg___cr_le%_‘_z):_g_f(e?__e%)__\_ c A Vecna
- 2

SN L S‘R‘\'\fﬁow

(4] é.. ‘j < 3 3 J‘SIWIS 90‘:"";)
il x dz dx dy Gew 22
< x € ]‘)—x‘§ ? i 00 e Tac 3(,6,=)
& w (t s A5 de d
0.422 X et = g S g rc'aseur‘-clz- r 9
° ° © z=7
il . 3 X cl 49
%‘u‘c:*"‘ .23 = S S Co3S - -2 c
v"ekq A ﬁ* =2 Q 2=
- ¥stOC© * "
(T —-j ¥ 33 cosS (3 - 1) ded®
Q =Y
\ 2
C@)\\A&;\Cu\ “/ y (.q ( %‘
‘. - — — \f27- =
O ﬁe ‘_'—_.‘“/1_ \ — S\"“S‘a % o "(‘3
O 2 r £ 3 B
o0 £z £ Ivag) =



MATH 2850

Quiz § |
April 27, 2017 NAME. Allenme SS1°

xX+y=2
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2, Evaluate the following integral by using cylindrical coordinates. Sketch the domain of the
integration in Cartesian coordinates.
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